66749 2008 3
Keywords: , ' ,
1
1.1
1.2
)
40K
5K
1.3
(1)
Gradient Biome
200mx 50mx 40m
. 40
50K
. H H H H .
CO2 5K
o , , . 5m/s
[ ]
2
2.1
y z
1/100
20x 05 22 ()
x 0.4m
2
5 14
Navier-Stokes
y k-¢

k,&



i q ’ TS ’ 0
SIMPLE
100 1/100
3
3.1
0
40
Fig. 2 ' 0.5m/s,
X-7 1.0m/s
34
~ 4
3.2 - 0.5~1.0m/s @
3.1 )
20.0cm 5 10m/s
X
Fig. 1
Fig. 3
400 ¢
—.300
:,20.0 I
10.0 V
0.0 &=

0.0 500 1000 1500 200.0

EE——
=0, 15457 11, 13655
Fig.1 x-z [ 1 [m/s] x[cm]
3.3 y Fig. 3 y=25.0cm, z=20.0cm
y-z 35 y-z
X 2 z
y-Z
2 Fig. 4
40K im/s
u.-fl‘l SEp
H—H’—u

YAY,

Fig.d 2 yz




3.6

3 400 -
30.0
3 —
.. 200
|_
100
) 00 bt —
Fig. 5 00 500 1000 1500 2000
x[cm]
Fig. 5 y=25.0cm, z=20.0cm
4
X=q D
3.3 G
2
Table.1 2 Fig.
2 4
X = X o)
D= \/Z( ideal resu-lt) .
number of grids
> ° Y-z
G — aX ideal aX rfsull
number of grids
X=T,
Table.1
Dt[x 103 Dgq[x 104 Gr[x 107  Ggq[x 104
0.5m/s, X, 1 5.96 4.82 1.27 4.23
1.0m/s, X, 1 3.20 2.84 0.959 2.80
0.5m/s, o, 1 3.33 3.24 0.626 1.87
1.0m/s, o, 1 2.61 2.50 0.649 2.12
0.5m/s, X, 2 4.00 3.45 0.760 2.03
1.0m/s, o, 2 3.75 3.17 1.10 2.97
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Dr[x 10%]  Dq[x 104  Gr[x 107] Ga[x 104]
0.5m/s, x 1 7.29(7.56) 5.61(5.77)  1.42(1.70) 4.76(5.72)
1.0m’s, x 3.293.86) 3.31(3.32)  0.817(1.26)  2.31(3.72)
1.0m’s, o, 1 2.70(3.03) 2.89(2.92) 0.527(0.838)  1.71(2.75)
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